> A
A & 0l & AF 2 E A A
2013 G =04 QUS| HARHD ~ (R
NETNVPE-EE SN oeE
HE: oM EH
SETRV PRI BT (29l & 2)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
gz 372,160,802 287,822,172 84,338,630
= 223,531,197
J| 7,034,092
=2 858,897
< 140,736,616
gz 372,160,802 287,822,172 84,338,630
= 223,531,197
J| 7,034,092
= 858,897
< 140,736,616
HEN=EEH 20,487,052 18,556, 360 1,930,692
= 8,230,544
J| 4,374,579
= 564,757
< 7,317,172
HENSZFHONY 1,506,611 1,463,811 42,800
HEEMINLEA2Y 988,000 925,000 63,000
306 =93 988,000 925,000 63,000
01 &3 988,000 925,000 63,000
OxddEMeg=24d 988,000
HEEMINLRAZIHIIEA 10,000 10,000 0
207 A RO 10,000 10,000 0
01 A7 39l 10,000 10,000 0
OWdEMLAEIIESA 10,000
SN0 E=2Y 422,811 422,811 0
308 A EHHSOIA 422,811 422,811 0
08 IIEtR Y= 422,811 422,811 0
Oz&Ezod=2d 422,811
HEIEgRFa 85,800 76,000 9,800
201 L2l 30,000 35,000 A5,000
01 At 2t 2l 30,000 35,000 A5,000
Oger==&H| 30,000
OAZBDNRALESSRS 10,000
OWEII=EUR LB =ZH| 15,000
ORI A=E L0 5,000
202 O4dl 32,000 36,000 A 4,000
01 = LH 4 Hi 32,000 36,000 A 4,000
OWENEERFE0HI 32,000
203 YR =&l 10,000 5,000 5,000
03 A F=XH S =AY 10,000 5,000 5,000
OWdsgR2F8 10,000




ooox nx
H0 2 H
X
X
=
By
N
g

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 13,800 0 13,800
01 HIXNHHBHNEELES 13,800 0 13,800
OEEMNGREIHE2LEMAIN A 13,800
LHHESEZotE 300,000 365,000 A 65,000
ZEHELAZEHIL O LAY 200,000 300,000 A 100,000
307 glz2tol & 200,000 300,000 A 100,000
10 AtSI =X 2 X 200,000 300,000 A 100,000
OZ=sddd A 200,000
M 0IX| 2 A 90,000 55,000 35,000
201 Let24E] 5,000 5,000 0
03 &AL2 I 5,000 5,000 0
OXFd SR En=s 5,000
307 21201 A 85,000 50,000 35,000
10 A2l =S X2 X 85,000 50,000 35,000
OdEISEAEIIALE TR AL 40,000
Ddgde24ditus 25,000
ODZd=cdasH+= 20,000
O E SR D 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
10 AtEI S X2 X 10,000 10,000 0
OdgdMadsdas 10,000
A2 AS &0 375,600 377,804 N2,204
& 25,000
< 350,600
HEAAMSIEHEHXA 17,600 19,600 A2,000
201 Let24E] 2,000 3,000 A1,000
01 At 2t 2l 2,000 3,000 21,000
Oget=EH| 2,000
OERSHMN TS ALK& 2,000
202 O4dl 10,000 11,000 A 1,000
01 = LH 4 Hi 10,000 11,000 A1,000
OWEEMEHENESAERF=E0HI 10,000
203 YR =&l 5,000 5,000 0
03 A F=XH S =AY 5,000 5,000 0
OHEEMAAEANBSAN AL R2FA 5,000
303 Z& = 600 600 0
01 Z& = 600 600 0
OHEF2IEHEL RIS RALL 600




M ox
40 5 4

WL L SN 08T
SCPESTESE"

D OdoA ZEHEN

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
HAEXNEANESS 40,000 40,000 0
307 2Iz2t0| A 40,000 40,000 0
10 MM S XIEX 40,000 40,000 0
OZ=2HAEAXNENESH2ASWNS 10,000
OZF=EAoatgo 2y 30,000
HEEHESIH 40,000 40,000 0
307 QI2t0| ™ 40,000 40,000 0
10 Al S X2 X 40,000 40,000 0
OFEHESMEAT2EH XN 40,000
A F2HIE AL 25,000 25,204 A 204
= 25,000
307 2Iz2t0| A 25,000 25,204 A 204
= 25,000
10 M3 S X EX 25,000 25,204 A 204
O =2t EA(0] ) 25,000
= 25,000
HENsga2s 37,000 37,000 0
307 2izto| A 37,000 37,000 0]
10 Al S X EX 37,000 37,000 0
OMNEHESH =X & 7,000
O =2Mns XA 30,000
e sX&A 91,800 91,800 0
308 AHXIEHSOIA 91,800 91,800 0
01 AIXSHMEMNEX= 91,800 91,800 0
O ndegsHdeSd 52,200
O soz IH2d 39,600
HAEASNEZZ2 )#HSY 124,200 124,200 0
308 MXISHMSOIA 124,200 124,200 0
01 IXHHIMNEEXTZ 124,200 124,200 0
OJdised 55,200
Oolsods22d 69,000
HEFII2A2AKXNS 1,216,800 2,888,800 A 1,672,000
J| 25,000
= 434,000
& 757,800
HAE32FAHI)sEH3 102,800 102,800 0
308 XHXIGH SO0l & 102,800 102,800 0
01 AIKISHHENEXZ 102,800 102,800 0
OJHAEFAXMEHSS 48,800




NETNVPE-EE SN oeE
HE: oM EH
Sl OAFHYIBSYN CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OO & EH A XX 54,000
HEANLHEH2YE 564,000 564,000 0
& 434,000
< 130,000
307 21201 A 564,000 564,000 0
& 434,000
< 130,000
10 A3l S X2 = 564,000 564,000 0
O &orafede 29 (012) 564,000
=2 434,000
< 130,000
HOUMACIHINEHEH2E XS 50,000 50,000 0
J| 25,000
< 25,000
307 21201 A 50,000 50,000 0
J| 25,000
< 25,000
10 A2l =S X2 X 50,000 50,000 0
O MAHCIH WL MBS X 50,000
J| 25,000
= 25,000
Heg2Ad 500,000 300,000 200,000
403 XSS =0l & 500,000 300,000 200,000
01 X SHMA2E X 500,000 300,000 200,000
Oodsl 2o 500,000
ZEHEHLHYXA 2,131,600 2,480,439 A 348,839
= 1,308,500
J| 84,000
< 739,100
HEFYASHAY 90,000 142,100 252,100
307 glz2tol & 30,000 80,000 A 50,000
10 At3I =X 2 X 30,000 80,000 A 50,000
OHEEIASLETHZIUS 30,000
308 MXIEHSOIH 60,000 60,000 0
01 HXNHHNBHELS 60,000 60,000 0
DIEXSSEHAHS X2 60,000
FEMERNEA=R2Y 727,600 668,000 59,600
=2 248,000
< 479,600
307 glz2tol & 727,600 668,000 59,600
=2 248,000
< 479,600
10 AtEl =X 2 X 727,600 668,000 59,600




M ox
40 5 4

WL L &

- - dE &
P .I‘IXH.EI-O . l=’}\|. 01|¢|-0H ED:II-
(o]
= -2 -3 2(3H) - M= of Ol AF o Hl W&

REEYENEEEEE 727,600
2 248,000
= 479,600

HAM2USHIME2Y 1,224,750 1,243,389 A 18,639
2 1,060,500
= 164,250

308 XX A SO0l H 1,224,750 1,243,389 A 18,639
= 1,060,500
= 164,250

0 HXSHBARES 1,224,750 1,243,389 A 18,639
CodM2L5 M2 1,224,750
2 1,060,500
= 164,250

B0/ EXALRHA KA 89,250 63,750 25,500
J| 84,000
< 5,250

308 XHXI &I S0 & 89,250 63,750 25,500
Il 84,000
= 5,250

0 UGB ARES 89,250 63,750 25,500
OZE0|20HE2H X 89,250
J| 84,000
= 5,250

HAEAAZE 3,319,287 2,871,234 448,053
2 416,465
J| 2,016,683
= 886,139

Of A4 0N O AF 31 2 01 BT XI & 66,231 66,231 0
2 61,610
= 4,621

308 XX A SO & 66,231 66,231 0
2 61,610
= 4,621

01 RIXSHBALEE2 66,231 66,231 0
[ 01 &4 ¢ 0§ ©1 AL 8] & Of = T K| & 66,231
2 61,610
= 4,621

A 04 OH T01 3 X XI 2 A€ 320,444 0 320,444
2 267,700
= 52,744

308 Xt X &AM S0l & 320,444 0 320, 444
2 267,700
= 52,744

0 HXSHBARES 320,444 0 320,444
OSNTHKXRAL 2SS 113,760
2 100,800




NETNVPE-EE SN oeE
SRRV PEPTES R
Sl HEAUSH CERED
= _ — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
== 12,960
Od0HHIHaEA2 SRR 86,970
= 66,900
< 20,070
[J 4 OH OH 12| off Kt = 2= K| & 20,314
= 18,000
= 2,314
OMNEZXNSEI s AIE 29I 52,000
= 40,000
< 12,000
OHMHMHEZ2XNEHIISZMEX R 47,400
= 42,000
< 5,400
=502 2st 74,400 25,000 49,400
307 21201 A 60,000 25,000 35,000
10 A2l S X2 X 60,000 25,000 35,000
O&EsXAIZ2el el dHa 2 sArd 30,000
OE = NEENEZ2IB2S 10,000
OWddASTONAIIN M 20,000
308 XXM SO A 14,400 0 14,400
01 HIXNHHNBNEES 14,400 0 14,400
OOtSHHAEXZA0SHAE2S 14,400
HEZHIHNESKR 74,800 44,800 30,000
307 21201 A 50,000 20,000 30,000
10 A3l S X2 = 50,000 20,000 30,000
O0&E2 28813662 ST H M2 E XA 20,000
Ozeolgodadegisgs 30,000
308 XXM SOl A 4,800 4,800 0
01 IXNHHBNEES 4,800 4,800 0
RZIHH=2SE 4,800
402 RI2HXt20l ™ 20,000 20,000 0
01 IZERI 22X 20,000 20,000 0
O0&E2 28eH366ZE 2 HEHIISEZ 20,000
CEZEHAHANESAN=ZX 93,576 50,112 43,464
307 21201 A 58,800 21,600 37,200
10 A2l S X2 X 58,800 21,600 37,200
O ZLd2AALdSAXNE 58,800
308 XXM SOl A 34,776 28,512 6,264
01 IXNHHBNEES 34,776 28,512 6,264
OHEZABRALEARSY 34,776
SEASXNLOHNKR(E) 977,259 891,011 86,248




NETNVPE-EE SN oeE
SRRV PEPTES R
S dgd@adsd (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
Jl 839,991
< 137,268
307 glz2tol & 977,259 891,011 86,248
J| 839,991
< 137,268
10 AtSI =X 2 X 977,259 891,011 86,248
OFASNHES YR 2 255,000
J| 178,500
< 76,500
Ot 8 ots eI X & 524,500
J| 524,500
OotsoHdeEsxgduay 7,200
J| 3,600
< 3,600
OtsEAUESEHH2IAMY 190,559
J| 133,391
< 57,168
SEZAUX LI AHKE(AlZ) 863,388 764,997 98,391
J| 739,346
< 124,042
308 AHAIEHHSOIA 863,388 764,997 98,391
J| 739,346
< 124,042
01 HIXNHHNBMNELS 863,388 764,997 98,391
OdotsHd2sX9dU2d 107,640
J| 82,800
< 24,840
Od=Zda4gaz2dA 305,652
J| 265,784
S 39,868
O & AWNSH X 17,156
J| 13,197
< 3,959
OJEZ28 484292 305,652
Jl| 265,784
< 39,868
OSgagdL23 XA 60,928
J| 52,981
< 7,947
O&dZdIoi xS =E2 S22 21,217
J| 18,800
< 2,417
O&d=aTloi e Sl K& 45,143
J| 40,000
< 5,143
Otsg=ZeX 36,100 30,000 6,100
307 glz2tol & 36,100 30,000 6,100




AT saF e IRRCEEE LT
EELEVPEBIE L
Sl ogAYSH (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
10 AtEI =S X2 X 36,100 30,000 6,100
O0tsd =28t dXZ0lgsX& 30,000
OfXNMNEHOA2ZEN =S X 6,100
NHE=Y - A=dIos S L XA 100,716 96,552 4,164
b] 89,242
< 11,474
308 AHAIEHHSOIA 100,716 96,552 4,164
J| 89,242
< 11,474
01 HXNHHNBHEELS 100,716 96,552 4,164
OJEZ=8Ii BN SEZ2OH2 Y 57,830
J| 51,242
< 6,588
OdZSEiMHnENSEIZ2 IS 42,886
J| 38,000
< 4,886
IR =L XNLUTMHRXR(Z) 351,088 323,106 27,982
J| 160,544
S 190,544
307 21201 A 343,088 315,106 27,982
J| 156,544
< 186,544
10 A2l =S X2 X 343,088 315,106 27,982
Oo&2 28813662 2 XA 340,208
J| 155,104
< 185,104
OHd=ZESAMALSF 2,880
J| 1,440
< 1,440
402 QI2tXt=201 & 8,000 8,000 0
J| 4,000
< 4,000
01 RIZERI 22X 8,000 8,000 0
1366 EH2A S HSIHAHANAB RN ESSEIISE
& 5,000
J| 2,500
< 2,500
O1366HHZ SUH ™I IR L SIsES 3,000
J| 1,500
< 1,500
P ZH XL Ol o XX (Al 2) 211,484 193,890 17,594
J| 187,560
< 23,924
308 XX EHSOIA 206,284 187,390 18,894
J| 183,560
S 22,724




M ox
40 5 4

% - 4 14
SN EH - (BH) A 0l &F 24 e Hl D= 2t
01 AXSHHBLEES 206,284 187,390 18,894
O =TI AESANE2EX 146,963
J| 130,220
< 16,743
ONSZANHRNZS AL LTSI 43 T4
HI X & 10,500
J| 10,500
O ZSESMALSE 10,224
9] 8,640
< 1,584
O3 =8idiMxss=sx 2 el 33,857
J| 30,000
< 3,857
OotE=Z4Toi el 28 K& 4,740
J| 4,200
< 540
403 UHXSHHSA=0l& 5,200 6,500 21,300
J| 4,000
< 1,200
01 X SHMA2E X 5,200 6,500 A 1,300
OIS ZSEESAEI)IsELXE 5,200
J| 4,000
< 1,200
S -HEE2sXNGdli=2ga84dst 87,301 57,798 29,503
= 67,155
< 20,146
308 XXM SOl A 87,301 57,798 29,503
= 67,155
< 20,146
01 IXNSHHBANEES 87,301 57,798 29,503
[JOots o™ XI & Jl & 87,301
= 67,155
< 20,146
N L22H X 16,500 16,500 0
308 XtXIEHHSOIA 16,500 16,500 0
01 HXNHHBHELS 16,500 16,500 0
O0XN2aga2IR 16,500
dOHEHLIMEHHX A 6,000 6,000 0
308 XX EHSOIA 6,000 6,000 0
01 HIXNHHNBHNEES 6,000 6,000 0
O2zZIoigL dectdz X 6,000
QINHCIASE WS 40,000 0 40,000
= 20,000
< 20,000

«©
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169,470

CEEEEEER CERED
- _ — d =
RRA B BN NRAY - BES 0l &k o4 e HlnE2
307 glz2tol & 40,000 0 40,000
= 20,000
< 20,000
10 AtEI =S X2 X 40,000 0 40,000
Ostuilde 8 XNHAASE WS 40,000
= 20,000
< 20,000
ZEINE23 Y 10,201,100 6,788,424 3,412,676
= 5,718,535
J| 2,248,896
=) 2,233,669
NEAS 2SN R ALY 235,950 209,950 26,000
= 181,500
< 54,450
308 XXM SO0 A 235,950 209,950 26,000
2 181,500
< 54,450
01 IXNSHHBNEES 235,950 209,950 26,000
OSSN & A 235,950
= 181,500
< 54,450
OL0IS S A& 5,497,014 3,508,793 1,988,221
= 4,870,772
< 626,242
308 MXIEHSOIH 5,497,014 3,508,793 1,988,221
= 4,870,772
< 626,242
01 HXNHHBHELS 5,497,014 3,508,793 1,988,221
botols=sX& 5,465,414
= 4,842,772
< 622,642
sss0tLusH=29Y 31,600
= 28,000
< 3,600
ALNEELEXE 35,000 65,000 230,000
307 21201 A 15,000 45,000 230,000
10 A3l =X 2= 15,000 15,000 0
Ozt ostuoleg 15,000
308 AHAIEHHSOIA 20,000 20,000 0
01 HXSHBARES 20,000 20,000 0
OJtE AL OIS A 20,000
ABINEBNJAEH2E 734,370 734,370 0
564,900
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- _ _ RE]
SoSN - SH(EH) - NEAY - B %Eﬁ HR=2
308 XHXIEHSO|A 734,370 734,370 0
= 564,900
= 169,470
01 AIXSHMEMNEX= 734,370 734,370 0
OALIE XN HAEHSH 734,370
= 564,900
o= 169,470
SFEEIIEXIK (KA 893,385 ,687 87,698
307 gizto| A 40,000 ,000 0
10 Al S X2 X 40,000 ,000 0
Osteeisigsned 40,000
308 XX SHHSOIH 853,385 ,687 87,698
01 AIXSHMENEXZ 853,385 ,687 87,698
Ot IIEsNE XIS 72,000
OstEE2IIEg8 SsH 2| 282,000
OstE2IJIEANE LI s 2 240,000
OstE2IIEXEHSHE E | 143,940
Ot 2IIENEH D ESH AR 115,445
SQIIEXNH(EX) 2,417,563 ,932 1,371,631
Jl 2,248,896
= 168,667
308 XX SHHSOIH 2,417,563 ,932 1,371,631
Dl 2,248,896
o= 168,667
01 AIXSHMENMNEX= 2,417,563 ,932 1,371,631
OS2I ENEHSEH AR 2,317,459
J| 2,155,776
& 161,683
Ot E2IEFIISFH XA 8,772
J| 8,160
= 612
Ot IIEz NSt EEH XS 85,140
J| 79,200
& 5,940
Ot 2SS A& LA XA XA 6,192
J| 5,760
o= 432
SFEDIIE=EXAE X (KA 265,874 ,058 12,816
307 212t0| & 15,000 ,000 0
10 MaIEXIEX 15,000 ,000 0
OstRELHESIANELANLSAMAKIAS 15,000
308 XX G SOl A 250,874 ,058 12,816
01 AIXSHMEMNEX= 250,874 ,058 12,816
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AT saF e IRRCEEE LT
EELEVPEBIE L
Sl JIEAS U YA CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
=) 543,253
HA20tsHE=SY 521,543 529,279 NT,736
& 105,757
< 415,786
307 glz2tol & 211,514 201,514 10,000
&2 105,757
< 105,757
10 AtSI =X 2 X 211,514 201,514 10,000
OJIEAEXNAHS L (01) 211,514
= 105,757
< 105,757
308 XtXIEHH SOl A 310,029 327,765 A17,736
01 AXHHBILEES 310,029 327,765 A17,736
OJIEELS XA (01Y) 175,968
Ooci2otstistdsta A& 60,000
O AEHITE XA (01L) 13,536
OAEAHIIE S =S 9,000
O848 0I5 0SS I s =H| 13,950
OAEAHINEYAINEASE 0t W =HI 14,625
OA8AEHNELINERAE OIS 23 ELHI X 22,950
YA 7,000 7,000 0
307 21201 A 7,000 7,000 0
10 AFRISXIEX 7,000 7,000 0
OAF2AIEHAXE 7,000
QA0S IHEXN A 813,123 0 813,123
= 719,326
< 93,797
308 MtXIEHMSOIH 813,123 0 813,123
= 719,326
< 93,797
01 HXNHHBHEELS 813,123 0 813,123
OXFOMOtsYAA=EEES 59,613
= 52,822
< 6,791
OgaH X3 6,249
2 4,374
< 1,875
DgdotsdE+2 & 747,261
= 662,130
< 85,131
IIERAEXNNE - 29 94,388 116,952 N 22,564
= 67,718
= 26,670
307 glz2tol & 85,540 95,970 A 10,430
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EELEVPEBIE L
Sl JIEAS U YA CERED
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
= 59,878
& 25,662
06 282 85,540 95,970 A 10,430
OJI89E0isdlEE S XA 85,540
= 59,878
= 25,662
308 XX SHHSOIH 8,848 20,982 N 12,134
= 7,840
=} 1,008
01 AIXSHMENEXZ 8,848 20,982 N 12,134
Oger - JIEAEOSAHCXNE XA 8,848
= 7,840
& 1,008
FotsHLASA 309,822,943 233,176,110 76,646,833
= 199, 105,763
= 110,717,180
B AHEAXH 307,627,614 232,253,595 75,374,019
= 198,217,048
= 109,410,566
BEdMAJAS XA 5,000 11,300 A6,300
201 gBt2Ay| 5,000 11,300 AN6,300
01 AP 2t 2| bl 5,000 11,300 A6,300
OEsdMAR/S =L Y| 5,000
BEERESEIAANY 500 500 0
303 ZA& 2 500 500 0
01 A2 500 500 0
OESS332 A4 500
BEKNANIELNF 106,790 119,784 N 12,994
= 53,395
& 53,395
307 QI2t0| ™ 106,790 119,784 AN 12,994
= 53,395
& 53,395
10 Al SR EX 106,790 119,784 AN 12,994
OHE oM AL X 106,790
= 53,395
= 53,395
BEdBHEHSH 312,000 336,000 A 24,000
= 156,000
o=t 156,000
307 212t0| & 312,000 336,000 A 24,000
= 156,000
= 156,000
10 MM SR EX 312,000 336,000 A 24,000
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11,192,556

= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t

OEs32dH2Y9 312,000
= 156,000
< 156,000

EsSsSAMHIA 33,898,881 32,907,056 991,825
= 26,274,242
= 7,624,639

307 21201 A 303,600 0 303,600
= 162,972
< 150,628

10 A3l S X2 = 303,600 0 303,600
OO el Ol & O &l AFKT & 303,600
2 152,972
< 150,628

308 AHAIEHHSOIA 33,595,281 32,907,056 688,225
= 26,121,270
< 7,474,011

01 AXSHBLEELS 33,595,281 32,907,056 688,225
O2EssAHA 33,595,281
= 26,121,270
< 7,474,011

Ol 0l XI& 7,410,815 4,717,764 2,693,051
= 5,700,627
< 1,710,188

308 XXM SOl A 7,410,815 4,717,764 2,693,051
= 5,700,627
= 1,710,188

01 IXNHHBNEES 7,410,815 4,717,764 2,693,051
O el ol & X & 7,410,815
= 5,700,627
< 1,710,188

dRoEssXd 164,367,837 159,074,634 5,293,203
= 126,324,722
= 38,043,115

308 XtXIEHHSOIA 164,367,837 159,074,634 5,293,203
= 126,324,722
< 38,043,115

01 AXHHILEXS 164,367,837 159,074,634 5,293,203
Jgsotesz1d 164,367,837
= 126,324,722
< 38,043,115

L= 48,501,076 8,292,645 40,208,431
= 37,308,520
< 11,192,556

308 XX EHSOIA 48,501,076 8,292,645 40,208,431
37,308,520




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HIXNHHNBHNEES 48,501,076 8,292,645 40,208,431
Ofzggs==gia 48,501,076
= 37,308,520
< 11,192,556
EsH 2438 125,000 130,000 A5,000
307 glz2+ol & 85,000 90,000 A5,000
10 A3l S X2 X 85,000 90,000 A5,000
Oogolddgs =29 25,000
Ol d=nddaas 25,000
UMUK 15,000
OXOH - HEMNSEEZ IS 10,000
Oogoldadstzz 0 10,000
308 XtXIEHH SOl A 40,000 40,000 0
01 AXHHILEES 40,000 40,000 0
OoE=soisl 40,000
EEDNAAAST 2,667,600 2,097,900 569,700
308 A EHHSOIA 2,667,600 2,097,900 569,700
01 HXNHHNBHELS 2,667,600 2,097,900 569,700
O A=L I 2,559,600
OEOOtEsSNHESEZ XS 108,000
ESFBHAHE2LS 180,000 180,000 0
307 21201 A 180,000 150,000 30,000
10 AFRISXIE X 180,000 150,000 30,000
ODEsdEdHEZOSER2S 30,000
OFMHOIESEZZ2 02 15,000
Oh=stEsE2 0829 35,000
OEo82LHEH2H 20,000
Ol sxguz )29 80,000
FHarE=s2435 46,932,710 22,759,552 24,173,158
201 Let24dy| 30,000 10,000 20,000
01 AP 2teltl 30,000 10,000 20,000
OEsdnleEse 30,000
308 XX EHHSOIA 46,902,710 22,749,552 24,153,158
01 HIXNHHNBNEES 46,902,710 22,749,552 24,153,158
OMASES0ots2tAl] 2,500,000
o 0l & X &= Xl bl 87,000
OMAMoI=HESZ 600,000
ES0SHMEIH &I 5,000
OG220l 8 X2 144,000




M ox
40 5 4

SN B CH(HN) - MY - BES il HREZ

OFotsoHE0lEEAR 19,200
NG RNV ESESEE ) Fal]l 150,000
OFFXN2HS0lE WML 60,000
CJZONOtE 2l 0l & Il AR A I 50,000
Oogoldetd S Ml 54,750
Osclntd ,804,000
Ogun=sEsa 428,760

S3E0eold 3,074,500 1,626,460 1,448,040
2 2,365,000
=) 709,500

308 XX EH SOl A 3,074,500 1,626,460 1,448,040
= 2,365,000
& 709,500

01 HXNHHNBHNEES ,074,500 1,626,460 1,448,040
Os3g0dold 3,074,500
= 2,365,000
< 709,500

FIIUHEH2I 44,905 0 44,905
= 34,542
= 10,363

308 NtXIEHMSOIE 44,905 0 44,905
= 34,542
=) 10,363

01 HXHHBAEES 44,905 0 44,905
OF2Z2LIHEH2S NS 44,905
= 34,542
=) 10,363

ogodaagine , 195,329 922,515 1,272,814
= 888,715
< ,306,614

HeloldIlsed , 155,329 742,515 412,814
= 888,715
< 266,614

403 XX SHH S K20l & ,155,329 742 515 412,814
= 888,715
< 266,614

01 AXISHHA =22 &= , 155,329 742,515 412,814
OoeolEIIseEd , 155,329
= 888,715
< 266,614

2E2=J|s23 ,040,000 180,000 860,000

308 XX EHSOIA 80,000 80,000 0

01 AXHHBEES 80,000 80,000 0
OFHTEA22d 80,000




NETNVPE-EE SN oeE
Hu: 2ROISHASA
el OfRI0IT B AN M CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
403 UHXSHHSA=0l& 960,000 100,000 860,000
01 X SHMA2E X 960,000 100,000 860,000
O=3g - -g20e0d8lsed 900,000
OFHZEM2EX 60,000
detotss4d2Es 32,219,853 28,541,705 3,678,148
= 14,165,016
= 294,140
< 17,760,697
otsdel - EXEE 32,219,853 28,541,705 3,678,148
= 14,165,016
= 294,140
< 17,760,697
EROts=A2 L3N 268,504 261,280 7,224
= 129,140
< 139,364
201 et 10,224 3,000 7,224
01 At 2teltl 10,224 3,000 7,224
OMBISXANESETEINAE =S L0 10,224
307 gl2tol & 258,280 258,280 0
=2 129,140
< 129,140
10 AtSI =X 2 X 258,280 258,280 0
OZI 229 XA (012) 258,280
& 129,140
= 129,140
OlsHASILAEFTH 75,000 75,000 0
307 glz2+ol & 35,000 35,000 0
10 A3l =S X2 X 35,000 35,000 0
OZS0eol e L AL 25,000
Oots2d AL IS 10,000
308 XX EHH SOl 40,000 40,000 0
01 IXNHHBNEES 40,000 40,000 0
OO0l & At 40,000
OtS=HHO & X I 586,720 528,160 58,560
& 165,000
< 421,720
307 21201 A 364,000 331,600 32,400
& 165,000
< 199,000
10 AFRISXIEX 364,000 331,600 32,400
OZS0SESHIIA2G X2 (01Y) 330,000
=2 165,000
= 165,000
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NERNCEEE-EE" SN e
M. HAFNSOISSHLES
el ot BB (B9 ®R)
I SN Y. B () NEAY - BAS 0 AF o il HDS2
OH=OSESTEIIASAMARAE S 24,000
OOorssttHile =2 A 10,000
308 AXISHXSOoIH 216,720 196, 560 20,160
01 AXHNBIMNEXZ 216,720 196, 560 20, 160
OXNYGESESHE2I 22X (01) 198,000
OXNSESsESE I ASMARE S 18,720
405 XtabF S| 6,000 0 6,000
01 Mt =S F St 6,000 0 6,000
OOISESdEII2AGRAMNEST LS 2L 6,000
ANEOISHE=ERY 1,359, 156 1,328,082 31,074
307 212t01 & 135,000 110,000 25,000
10 M3ISXEX 135,000 110,000 25,000
OAMNEEAOSAHZE2|LFH AL LA 20,000
OJdIANLs=s2UHIFIA 15,000
OAN&EOtsSE0 =M 20,000
OO0tS=XIAIE S ARAH 20,000
OOIsSXAEEANYN RS 10,000
O0IsESXNSANE2I XA 20,000
OotsHE XM X 30,000
308 AXISHXMSOoIH 1,224,156 1,218,082 6,074
01 HXHNBIMNEXTZ 1,224,156 1,218,082 6,074
OJOSEXNAMESI X (01) 800,457
OAIE0IS)Is = 7,920
OAEOtSotAH =3l 18,900
OA&E0ts 1 =t 8,100
OA&E0tsS 1 & X8I 7,830
OA&E0tsS =50 &l 14,349
OA&Oots2A 2 &3 &l 5,400
OAIE0tsSA S 22l bl 50,580
OANE0tsSEH AL D A 13,500
OOIsSXAIES A= 151,200
OEAOSHEE=Z(01Y) 135,000
OS2t sLIANESS3 A 10,920
Z2A0s= AKX 13,019,414 13,640,592 A621,178
308 XX SIS 0| & 13,019,414 13,640,592 621,178
01 AIXHMBAEEXZ 13,019,414 13,640,592 A621,178
OgsrEs A (01Y) 1,890,000
O8I sEZ25LdEA 10,972,500
OXEotSHESS2AXS(0]1) 156,914
LESOsEIEE29Nd 275,252 240,958 34,294




SCREE-EE: SN oeE
P AHME OIS SHYES
CotsRe - 2XSA (B9 ®R)
- _ — d =
CRN I S(EH) - HRAY - BYS 0l &k o4 e HlnE2
= 189,829
=) 85,423
308 XX EHHSOIA 275,252 240,958 34,294
= 189,829
=) 85,423
01 HIXNHHBNEES 275,252 240,958 34,294
OxEsos1ss=2d N 275,252
= 189,829
< 85,423
Ots ZEXIJAH XX 721,571 712,993 8,578
2 639,367
< 82,204
308 XtXIEHH SOl A 721,571 712,993 8,578
= 639,367
< 82,204
01 X HHILEES 721,571 712,993 8,578
Oots2 <X & A 2K 721,571
= 639,367
< 82,204
OtsS X W AHIHA X & 1,932,228 1,636,429 295,799
= 1,712,100
< 220,128
308 A EHHSOIA 1,932,228 1,636,429 295,799
=2 1,712,100
< 220,128
01 HXNHHNBHEES 1,932,228 1,636,429 295,799
JOotES =Xl w AHIHA X & 1,932,228
2 1,712,100
< 220,128
EYAEBEMY 4,200,000 2,550,000 1,650,000
= 4,200,000
308 XXM SOl A 4,200,000 2,550,000 1,650,000
= 4,200,000
01 IXNHHBNEES 4,200,000 2,550,000 1,650,000
CEHAEBEAY 4,200,000
= 4,200,000
OtEEXAEIIs2Z 1,391,000 359,520 1,031,480
= 1,070,000
= 321,000
403 A X EHHS =0l A 1,391,000 359,520 1,031,480
= 1,070,000
< 321,000
01 X SHHX2E = 1,391,000 359,520 1,031,480
dJots=XNAIdIIsE2 1,391,000
= 1,070,000
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AT saF VIR CEEES
N AFBOIESRLULS
o9l OIS - ZXNBT (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
| == 321,000
NEotsdH2S K& (XHA) 99,000 95,320 3,680
308 AHAIEHHSOIA 99,000 85,320 13,680
01 HXNHHNBHEELS 99,000 85,320 13,680
OXSG0tSHESARLE=Y 99,000
ANEOtsdH2E XA 8,067,436 6,839,271 1,228,165
= 6,205,720
=) 1,861,716
308 XX EHHSOIA 8,067,436 6,839,271 1,228,165
= 6,205,720
=) 1,861,716
01 HIXNHHBNEES 8,067,436 6,839,271 1,228,165
OXNSotsHEH=2E X & 8,067,436
= 6,205,720
< 1,861,716
ANAOtSHEHEBEIIH2S XA 46,000 38,000 8,000
= 23,000
< 23,000
307 21201 A 46,000 38,000 8,000
= 23,000
< 23,000
10 AFRISXIE X 46,000 38,000 8,000
OXNS0otsHHEINSG2E XA 46,000
= 23,000
< 23,000
NE0tsdHANEXNIH2I XS 178,572 136, 100 42,472
= 125,000
< 53,572
307 gl2tol & 178,572 136, 100 42,472
= 125,000
< 53,572
10 AtEI =S X2 X 178,572 136, 100 42,472
OXNGOotsHEHAZEXNRASE2E XA 178,572
= 125,000
< 53,572
MELH ALY 9,569,114 7,547,997 2,021,117
= 2,029,874
J| 2,659,513
=) 4,879,727
NEACHMALS 9,569,114 7,547,997 2,021,117
= 2,029,874
J| 2,659,513
=) 4,879,727
NS AT ALY =& 58,000 75,000 A 17,000
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AT saF e IRRCEEE LT
M NSAMUHHAS
SR MESA ALY (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

[120131 2 = 2HUCCRAt R S 2 & 50,000
ODEMESSSASL NI RS N2 ALY 10,000
OsdZd2sHi=2gXE 8,000

04 QIZtHALE & 10,000 10,000 0
O ESHSAUHAS RS H A 10,000

308 MtXIEHMSOIH 168,000 168,000 0

01 HXNHHNBHEELS 168,000 168,000 0
ONMSUIZ2FCQAANMHEEL NS 69,000
OMEMS=SLZAUO0IZHAAE 69,000
OsdEHEEed I 30,000

M2AMOLE R0 XA 2,142,510 2,105,098 37,412
= 1,994,874
< 147,636

307 glz2tol & 26,400 23,700 2,700
= 26,400

02 plZtA A8 X 26,400 23,700 2,700
O MOtER0I =X 26,400
= 26,400

308 XXIEHH SOl A 2,116,110 2,081,398 34,712
= 1,968,474
< 147,636

01 AXHHIYEES 2,116,110 2,081,398 34,712
OAMZ2A MOS0 XI& ALY 2,116,110
= 1,968,474
= 147,636

2EOSHL N AL 2,293,464 2,021,855 271,609
J| 1,764,203
< 529,261

308 A EHHSOIA 2,293,464 2,021,855 271,609
J| 1,764,203
< 529,261

01 HXNHHNBHEELS 2,293,464 2,021,855 271,609
OHAREX A 2,229,354
J| 1,714,888
< 514,466
OJEEINEH =T ALY 13,410
J| 10,315
< 3,095
OFA2EMZ OIS HIRI 50,700
J| 39,000
= 11,700

S OLALE Ol & & 24 2 2t el 1,019,317 996, 705 22,612
J| 784,090
< 235,227
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M MSAMUBAY
SR MEAMUHANY (chel & 9l)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 1,019,317 996,705 22,612
J| 784,090
< 235,227
01 HIXNHHBHNEELES 1,019,317 996, 705 22,612
D00t dE-0l14 0t =] 661,570
J| 508,900
< 152,670
O AU AIOl & B AR S 0F 22| 322,972
Jl| 248,440
=) 74,532
OYERINUSHAAX R 34,775
J| 26,750
< 8,025
R otAZZ ALY 125,123 52,839 72,284
J| 111,220
< 13,903
308 XXM SOIA 125,123 52,839 72,284
J| 111,220
< 13,903
01 XML EES 125,123 52,839 72,284
DEsotA AL 125,123
J| 111,220
< 13,903
OLOIEDIZESNa2ESE2R2Y 70,000 80,000 10,000
= 35,000
< 35,000
307 21201 A 70,000 80,000 210,000
= 35,000
< 35,000
02 I2HA A8 X 70,000 80,000 A 10,000
OO0l E2Ma 22822 X 70,000
= 35,000
< 35,000
HY2HIH (L F=2) 61,840 0 61,840
Jl= &3l 61,840 0 61,840
Jl=dl 61,840 0 61,840
201 Let24d] 23,640 0 23,640
01 At 22l 22,800 0 22,800
Ogpt=2tl 12,000
OMNREEZTLALRESERYS 12,000
[E=3=q:] 10,800
OWEINIELRFAS A 10,800
02 232gHl 840 0 840
Osde3 840
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